ANSWERS - VOLUME 1: EQUILIBRIUM
Chapter 14, Cables, Lines of Force and Structural Shapes

problem 14.57, page 708

Remarks: See 814.3, page 679 till 694

ANSWETS:
14.57-2:

b.
C.

Normal force in the girder = 17.6 kKN
An=17.6 KN >

A,=396kN T

Br=17.6 kN «

B,=484kN T

Moment in the left corner = 70.4 kNm
Moment in the right corner = 105.6 KNm

14.57-4:

b.
C.

Normal force in the girder = 12 kN
An=12kN —

A,=41kNT

Br=12 kN «

B,=47kNT

Moment in the left corner = 48 kNm
Moment in the right corner = 72 kNm
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